Comet Bay College



YEAR TWELVE 2024

2024

24 857 12 B

ALL ORDERS MUST BE COMPLETED Online at www.campion.com.au by Friday 22nd December 2023 Using "TDCQ" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

PREPACKAGED DELIVERY SERVICE

HOME DELIVERY

Your order will be dispatched for \$5.00, no later than the week ending 19th January 2024 but where possible will be dispatched earlier, if placed on or before the return date of Friday 22nd December 2023.

Orders placed after the 22nd of December will incur a late fee of up to \$12.00. If ordering later, please allow sufficient time for delivery to occur prior to the commencement of the school year.

Please refer to Campion's website www.campion.com.au for up-to-date information on our trading hours and our full terms and conditions.



Please tick the items required in the box provided

☑ Item Item Qty Unit Total No. Regd Regd Price \$ Amount \$

YEAR TWELVE

Description

Office Use

Please note that there are digital products (eCode or cCode) on this Resource List. These products are single user licenses and are only valid for 1 year (unless otherwise stated). Digital resources cannot be returned, refunded or exchanged if you do change your mind, even if you haven't used or activated them. We recommend you please order your items carefully ensuring the correct resources are selected for your child's subjects.

Please allow sufficient time for digital resources to be processed and made available to the student after purchase. When ordering after the return due date some items may go to backorder and need to be reordered from the supplier.

GENERAL NOTES

DO NOT send all personal items with your child on the first day of school. Teachers will advise students to bring particular items to their next class as required.

The following items only will be required on day one:

All GENERAL STATIONERY items - Display Books - Mathematics Equipment

Please do not provide your child with spiral bound note pads with pages that need to be removed by tearing at a perforated edge. A lever arch file and loose leaf paper is recommended.

Comet Bay College does not permit the use of 'Correction Fluid'. Correction Tape is recommended.

Students are required to carry a school bag, the preferred colour being Navy Blue.

ONLY purchase items for the courses/subjects your child is enrolled in as per your Contributions and Charges Summary. If your child is enrolled in a course and it is not listed on this booklist, there are no additional stationery requirements for that course.

	GENERAL STATIONERY - ESSENTIAL ITEMS					
P55110	Binder A4 2D Ring 25mm PE Black	1		3	5.35	16.05
P55442	Display Book A4 20 Pocket Black Refillable	2	$\overline{}$	2	2.15	4.30
P55709	Dividers Index A4 5 Tab (Board)	3	$\overline{}$	1	1.10	1.10
P50265	Eraser Plastic Pencil Small With Sleeve	4	$\overline{\Box}$	2	0.30	0.60
P51353	Glue Stick 40gm Artline Purple	5	$\overline{}$	1	2.75	2.75
P50370	Highlighter Marker - Cool Frost Yellow Stabilo Swing	6	$\overline{}$	1	2.55	2.55
P50237	Lecture Pad A4 PP Cover 140 pages Spirax #905	7	$\overline{}$	1	4.65	4.65
P56390	Loose Leaf Refills Reinforced A4 7mm Pkt 500	8	$\overline{}$	1	17.95	17.95
P56094	Pen Ballpoint Cap Type Black Medium	9		4	0.35	1.40
P56095	Pen Ballpoint Cap Type Blue Medium	10		4	0.35	1.40
P56096	Pen Ballpoint Cap Type Red Medium	11		4	0.35	1.40
P56166	Pencil (HB) Copperplate	12		1	0.55	0.55
P52001	Pencil (2B) Goldfaber	13		1	0.65	0.65
P56414	Ruler 300mm Plastic Clear	14		1	0.75	0.75
P56245	Sharpener Pencil Metal Single Hole (HQ)	15		1	0.85	0.85
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	16		1	14.05	14.05
	1 USB is required and can be used for all subjects however an addition	al USB m	av be req	uired for spec	ific electiv	es.
				•		
			,	·		
	OPTIONAL PURCHASE			·		
P54035		17		1	2.15	2.15
P54035	OPTIONAL PURCHASE			·		
P54035 P19689	OPTIONAL PURCHASE 2024 Diary A5 Student Cumberland			·		
	OPTIONAL PURCHASE 2024 Diary A5 Student Cumberland BIOLOGY - ATAR (UNITS 3 AND 4)	17		1	2.15	2.15
P19689	OPTIONAL PURCHASE 2024 Diary A5 Student Cumberland BIOLOGY - ATAR (UNITS 3 AND 4) WA ATAR Biology 3&4 (Print & Digital) [Skirving et al]	17 18		1	2.15 97.95	2.15 97.95
P19689 P55487	OPTIONAL PURCHASE 2024 Diary A5 Student Cumberland BIOLOGY - ATAR (UNITS 3 AND 4) WA ATAR Biology 3&4 (Print & Digital) [Skirving et al] Document Wallet FC Polydoc Red Exercise Book A4 96 Page 8mm with Margin Spirax #108	17 18 19		1 1 2	2.15 97.95 2.50	2.15 97.95 5.00
P19689 P55487	OPTIONAL PURCHASE 2024 Diary A5 Student Cumberland BIOLOGY - ATAR (UNITS 3 AND 4) WA ATAR Biology 3&4 (Print & Digital) [Skirving et al] Document Wallet FC Polydoc Red	17 18 19		1 1 2	2.15 97.95 2.50	2.15 97.95 5.00
P19689 P55487 P50451	OPTIONAL PURCHASE 2024 Diary A5 Student Cumberland BIOLOGY - ATAR (UNITS 3 AND 4) WA ATAR Biology 3&4 (Print & Digital) [Skirving et al] Document Wallet FC Polydoc Red Exercise Book A4 96 Page 8mm with Margin Spirax #108 CAREER AND ENTERPRISE - GENERAL (UNITS 3 AND 4)	17 18 19 20		1 1 2 2	2.15 97.95 2.50 1.65	2.15 97.95 5.00 3.30
P19689 P55487 P50451	OPTIONAL PURCHASE 2024 Diary A5 Student Cumberland BIOLOGY - ATAR (UNITS 3 AND 4) WA ATAR Biology 3&4 (Print & Digital) [Skirving et al] Document Wallet FC Polydoc Red Exercise Book A4 96 Page 8mm with Margin Spirax #108 CAREER AND ENTERPRISE - GENERAL (UNITS 3 AND 4) Display Book A4 20 Pocket Black Refillable	17 18 19 20		1 1 2 2	2.15 97.95 2.50 1.65	2.15 97.95 5.00 3.30 4.30
P19689 P55487 P50451	OPTIONAL PURCHASE 2024 Diary A5 Student Cumberland BIOLOGY - ATAR (UNITS 3 AND 4) WA ATAR Biology 3&4 (Print & Digital) [Skirving et al] Document Wallet FC Polydoc Red Exercise Book A4 96 Page 8mm with Margin Spirax #108 CAREER AND ENTERPRISE - GENERAL (UNITS 3 AND 4) Display Book A4 20 Pocket Black Refillable Exercise Book A4 96 Page 8mm with Margin Spirax #108 Please note: Students require a USB Flash Drive	17 18 19 20		1 1 2 2	2.15 97.95 2.50 1.65	2.15 97.95 5.00 3.30 4.30
P19689 P55487 P50451 P55442 P50451	OPTIONAL PURCHASE 2024 Diary A5 Student Cumberland BIOLOGY - ATAR (UNITS 3 AND 4) WA ATAR Biology 3&4 (Print & Digital) [Skirving et al] Document Wallet FC Polydoc Red Exercise Book A4 96 Page 8mm with Margin Spirax #108 CAREER AND ENTERPRISE - GENERAL (UNITS 3 AND 4) Display Book A4 20 Pocket Black Refillable Exercise Book A4 96 Page 8mm with Margin Spirax #108 Please note: Students require a USB Flash Drive CERT II AND III MUSIC AND MUSIC GENERAL	17 18 19 20 21 22		1 2 2 2	2.15 97.95 2.50 1.65 2.15 1.65	2.15 97.95 5.00 3.30 4.30 3.30
P19689 P55487 P50451 P55442 P50451	OPTIONAL PURCHASE 2024 Diary A5 Student Cumberland BIOLOGY - ATAR (UNITS 3 AND 4) WA ATAR Biology 3&4 (Print & Digital) [Skirving et al] Document Wallet FC Polydoc Red Exercise Book A4 96 Page 8mm with Margin Spirax #108 CAREER AND ENTERPRISE - GENERAL (UNITS 3 AND 4) Display Book A4 20 Pocket Black Refillable Exercise Book A4 96 Page 8mm with Margin Spirax #108 Please note: Students require a USB Flash Drive CERT II AND III MUSIC AND MUSIC GENERAL Music Manuscript Book No 1 - 6 Stave 16 Page Allans	17 18 19 20 21 22		1 1 2 2 2	2.15 97.95 2.50 1.65 2.15 1.65	2.15 97.95 5.00 3.30 4.30 3.30
P19689 P55487 P50451 P55442 P50451	OPTIONAL PURCHASE 2024 Diary A5 Student Cumberland BIOLOGY - ATAR (UNITS 3 AND 4) WA ATAR Biology 3&4 (Print & Digital) [Skirving et al] Document Wallet FC Polydoc Red Exercise Book A4 96 Page 8mm with Margin Spirax #108 CAREER AND ENTERPRISE - GENERAL (UNITS 3 AND 4) Display Book A4 20 Pocket Black Refillable Exercise Book A4 96 Page 8mm with Margin Spirax #108 Please note: Students require a USB Flash Drive CERT II AND III MUSIC AND MUSIC GENERAL	17 18 19 20 21 22		1 2 2 2	2.15 97.95 2.50 1.65 2.15 1.65	2.15 97.95 5.00 3.30 4.30 3.30

Please tick the items required in the box provided

Item Item No. Reqd

Qty Unit Reqd Price \$

Total Amount \$

CHEMISTRY - ATAR (UNITS 3 AND 4)

Office Use

Description

	OTELINOTRE ATAK (OTTO O ARD 4)							
	Please choose ONE of the options below	<u>c</u>	Choose One					
	OPTION 1: PRINT & DIGITAL							
P00469	Pearson WA Chemistry 12 SB/EB	25		1	93.95	93.95		
	This is a physical textbook including a code within the book to access the onlin	ne com	ponent.					
	OPTION 2: REACTIVATION CODE: ONLY FOR USE WITH 2ND HAND BO	ΣK						
E02441	Digital Pearson WA Chemistry 12 (2yr Reactivation)	26	DIGITAL ITEM	1	25.95	25.95		
	Only purchase the reactivation code if you have a second hand copy of the ab the code inside the front cover of this book has already been activated. Please once purchased, even if you have not activated or used the reactivation code, exchanged if you change your mind.	choos	e carefully before	orderir	ng this prod	uct as		
P55278	Calculator Texas Scientific TI-30XB Multiview	27		1	37.95	37.95		
P54149	Exercise Book 225x175mm 96 Page 8mm Spirax	28		2	1.20	2.40		
	DIMENSIONAL DESIGN - CAD/CAM							
P52187	Display Book A3 20 Pocket Foldermate Black (Non-Ref)	29		1	13.40	13.40		
P54143	Graph Book A4 96 Page 5mm Spirax #131	30		1	2.00	2.00		
P50006 P52086	Pencil (HB) Micador Essential	31		2	0.35	0.70		
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	32		1	14.05	14.05		
	DRAMA - GENERAL							
	Personal Items not available from Campion Full Theater Blacks - Black Pants/Black Shirt							
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	33		1	1.65	1.65		
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	34		1	14.05	14.05		
	ECONOMICS - ATAR (UNITS 3 AND 4)							
P32347	WA ATAR Investigating Macroeconomics Yr 12 7E [Greg Parry, Steven Kemp]	35		1	88.00	88.00		
	ENGINEERING STUDIES GENERAL							
P52187	Display Book A3 20 Pocket Foldermate Black (Non-Ref)	36		1	13.40	13.40		
P58510	Eraser Plastic Pencil Large With Sleeve	37	$\bar{\Box}$	1	0.40	0.40		
P54143	Graph Book A4 96 Page 5mm Spirax #131	38	$\overline{\Box}$	1	2.00	2.00		
P50006	Pencil (HB) Micador Essential	39		2	0.35	0.70		
P56428	Safety Glasses Clear Wrap Around	40		1	6.45	6.45		
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	41		1	14.05	14.05		
	ENGINEERING - ATAR							
P52187	Display Book A3 20 Pocket Foldermate Black (Non-Ref)	42		1	13.40	13.40		
P58510	Eraser Plastic Pencil Large With Sleeve	43	$\overline{\Box}$	1	0.40	0.40		
P54143	Graph Book A4 96 Page 5mm Spirax #131	44		1	2.00	2.00		
P50006	Pencil (HB) Micador Essential	45		2	0.35	0.70		
P56428	Safety Glasses Clear Wrap Around	46		1	6.45	6.45		
P51682	USB Drive 32GB 3.0 - NO RETURNS	47		1	19.95	19.95		
	ENGLISH FOUNDATION (UNITS 3 AND 4)							
P50328	Exercise Book A4 128 Page 8mm with Margin Spirax #110	48		2	2.15	4.30		
	ENGLISH - GENERAL (UNITS 3 AND 4)							
P53793	Cardboard A2 510X635mm White 200gsm Single Sheet	49		2	1.75	3.50		
	Please provide payment to Campion and (due to size) your cardboard, if ordere		e will be delivered					
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	50		2	1.65	3.30		

Please tick the items required in the box provided \downarrow

P14672		
P14672 Insight WA Year 12 ATAR English Exam Practice [L Bondin & L Pettigrew] 51		
P34027 Good Answers ATAR English 2024 [ETAWA] 52	10.05	40.05
(due approx. May) Good Answers English will not be available until term 2. If ordered online your copy will be of the College. P50328 Exercise Book A4 128 Page 8mm with Margin Spirax #110 53 2 FOOD SCIENCE AND TECHNOLOGY - GENERAL Personal Items: 1 x Food container (provide own, minimum 500-600ml) 1 x Pair of closed in shoes - heavy duty, thick canvas with hard soles. P50729 Display Book A4 40 Pocket Insert Cover Blue Non-Refillable 54 1 P52187 Display Book A3 20 Pocket Foldermate Black (Non-Ref) 55 1 Exercise Book A4 96 Page 8mm with Margin Spirax #108 56 1 GEOGRAPHY - ATAR (UNITS 3 AND 4) P31940 WA ATAR Geography Units 3&4 (3E) [Bell] 57 1 P30048 Skills in Geography AC (Print & Digital) 3E [Grant Kleeman] 58 1 (Retain from previous year) P55278 Calculator Texas Scientific TI-30XB Multiview 59 1 P56353 Protractor 10 cm 180 4" Half Circle 60 1 P56414 Ruler 300mm Plastic Clear 61 1 P50208 Pencils-Coloured 12's Columbia 1	19.95	19.95
### College. P50328 Exercise Book A4 128 Page 8mm with Margin Spirax #110 53	31.50	31.50
FOOD SCIENCE AND TECHNOLOGY - GENERAL Personal Items: 1 x Food container (provide own, minimum 500-600ml) 1 x Pair of closed in shoes - heavy duty, thick canvas with hard soles. P50729 Display Book A4 40 Pocket Insert Cover Blue Non-Refillable 54	ieliverea ir	1 DUIK TO
Personal Items: 1 x Food container (provide own, minimum 500-600ml) 1 x Pair of closed in shoes - heavy duty, thick canvas with hard soles. P50729	2.15	4.30
1 x Food container (provide own, minimum 500-600ml) 1 x Pair of closed in shoes - heavy duty, thick canvas with hard soles. P50729 Display Book A4 40 Pocket Insert Cover Blue Non-Refillable 54		
P50729 Display Book A4 40 Pocket Insert Cover Blue Non-Refillable 54 1 P52187 Display Book A3 20 Pocket Foldermate Black (Non-Ref) 55 1 P50451 Exercise Book A4 96 Page 8mm with Margin Spirax #108 56 1 GEOGRAPHY - ATAR (UNITS 3 AND 4) P31940 WA ATAR Geography Units 3&4 (3E) [Bell] 57 1 P30048 Skills in Geography AC (Print & Digital) 3E [Grant Kleeman] 58 1 (Retain from previous year) 59 1 P55278 Calculator Texas Scientific TI-30XB Multiview 59 1 P56353 Protractor 10 cm 180 4" Half Circle 60 1 P56414 Ruler 300mm Plastic Clear 61 1 P50208 Pencils-Coloured 12's Columbia 62 1		
P52187 Display Book A3 20 Pocket Foldermate Black (Non-Ref) 55 1 P50451 Exercise Book A4 96 Page 8mm with Margin Spirax #108 56 1 GEOGRAPHY - ATAR (UNITS 3 AND 4) P31940 WA ATAR Geography Units 3&4 (3E) [Bell] 57 1 P30048 Skills in Geography AC (Print & Digital) 3E [Grant Kleeman] 58 1 (Retain from previous year) 59 1 P55278 Calculator Texas Scientific TI-30XB Multiview 59 1 P56353 Protractor 10 cm 180 4" Half Circle 60 1 P56414 Ruler 300mm Plastic Clear 61 1 P50208 Pencils-Coloured 12's Columbia 62 1	5.45	5.45
P50451 Exercise Book A4 96 Page 8mm with Margin Spirax #108 56 1 GEOGRAPHY - ATAR (UNITS 3 AND 4) P31940 WA ATAR Geography Units 3&4 (3E) [Bell] 57 1 P30048 Skills in Geography AC (Print & Digital) 3E [Grant Kleeman] 58 1 (Retain from previous year) 59 1 P55278 Calculator Texas Scientific TI-30XB Multiview 59 1 P56353 Protractor 10 cm 180 4" Half Circle 60 1 P56414 Ruler 300mm Plastic Clear 61 1 P50208 Pencils-Coloured 12's Columbia 62 1	13.40	13.40
P31940 WA ATAR Geography Units 3&4 (3E) [Bell] 57 1 P30048 Skills in Geography AC (Print & Digital) 3E [Grant Kleeman] 58 1 (Retain from previous year) 58 1 P55278 Calculator Texas Scientific TI-30XB Multiview 59 1 P56353 Protractor 10 cm 180 4" Half Circle 60 1 P56414 Ruler 300mm Plastic Clear 61 1 P50208 Pencils-Coloured 12's Columbia 62 1	1.65	1.65
P31940 WA ATAR Geography Units 3&4 (3E) [Bell] 57 1 P30048 Skills in Geography AC (Print & Digital) 3E [Grant Kleeman] 58 1 (Retain from previous year) 58 1 P55278 Calculator Texas Scientific TI-30XB Multiview 59 1 P56353 Protractor 10 cm 180 4" Half Circle 60 1 P56414 Ruler 300mm Plastic Clear 61 1 P50208 Pencils-Coloured 12's Columbia 62 1		
P30048 Skills in Geography AC (Print & Digital) 3E [Grant Kleeman] 58 1 (Retain from previous year) 59 1 P55278 Calculator Texas Scientific TI-30XB Multiview 59 1 P56353 Protractor 10 cm 180 4" Half Circle 60 1 P56414 Ruler 300mm Plastic Clear 61 1 P50208 Pencils-Coloured 12's Columbia 62 1	76.90	76.90
(Retain from previous year) P55278 Calculator Texas Scientific TI-30XB Multiview 59 1 P56353 Protractor 10 cm 180 4" Half Circle 60 1 P56414 Ruler 300mm Plastic Clear 61 1 P50208 Pencils-Coloured 12's Columbia 62 1	72.95	72.95
P55278 Calculator Texas Scientific TI-30XB Multiview 59 1 P56353 Protractor 10 cm 180 4" Half Circle 60 1 P56414 Ruler 300mm Plastic Clear 61 1 P50208 Pencils-Coloured 12's Columbia 62 1		
P56353 Protractor 10 cm 180 4" Half Circle 60 1 P56414 Ruler 300mm Plastic Clear 61 1 P50208 Pencils-Coloured 12's Columbia 62 1	37.95	37.95
P56414 Ruler 300mm Plastic Clear 61 1 P50208 Pencils-Coloured 12's Columbia 62 1	0.45	0.45
P50208 Pencils-Coloured 12's Columbia 62 1	0.75	0.75
HISTORY (MODERN) - ATAR (LINITS 3 AND 4)	2.85	2.85
P15993 Cold War 1945-1991 NSW Stg 6 NMH (Print&Digital) [Brad Kelly] 63 1	43.95	43.95
P14460 Russia Under Tsarism & Communism 1881-1953 (2E) [Fiehn & Corin] 64 1	90.95	90.95
P15991 World Order 1945-2011 NSW Stg 6 NMH (Print&Digital) [Brad Kelly] 65 1	43.95	43.95
HUMAN BIOLOGY - GENERAL (UNITS 3 AND 4)		
,	2.50	E 00
	2.50	5.00
P50451 Exercise Book A4 96 Page 8mm with Margin Spirax #108 67 2	1.65	3.30
HUMAN BIOLOGY - ATAR (UNITS 3 AND 4)		
P13290 WA ATAR Human Perspectives 3&4 (Print & Digital) 8E [Whan et al] 68 1	87.95	87.95
P50451 Exercise Book A4 96 Page 8mm with Margin Spirax #108 69 2	1.65	3.30
INTEGRATED SCIENCE - GENERAL (UNITS 3 AND 4)		
P55487 Document Wallet FC Polydoc Red 70 1	2.50	2.50
P50451 Exercise Book A4 96 Page 8mm with Margin Spirax #108 71 2	1.65	3.30
LITERATURE - ATAR (UNITS 3 AND 4)		
P50328 Exercise Book A4 128 Page 8mm with Margin Spirax #110 72 2	2.15	4.30
P34028 Good Answers ATAR Literature 2024 [ETAWA] 73 1	31.50	31.50
(Due approx. May) Good Answers English will not be available until term 2. If ordered online your copy will be the College.	delivered ii	n bulk to
MATERIALS DESIGN AND TECHNOLOGY (METAL) - GENERAL		
P52187 Display Book A3 20 Pocket Foldermate Black (Non-Ref) 74 1	13.40	13.40
P54143 Graph Book A4 96 Page 5mm Spirax #131 75 1	2.00	2.00
P50006 Pencil (HB) Micador Essential 76 20	0.35	7.00
P56428 Safety Glasses Clear Wrap Around 77 1		
P52086 USB Pocket Flash Drive 32GB - NO RETURNS 78 1	6.45	6.45

Please tick the items required in the box provided \downarrow

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	MATERIALS DESIGN AND TECHNOLOGY (WOOD) - GENERAL					
P52187	Display Book A3 20 Pocket Foldermate Black (Non-Ref)	79		1	13.40	13.40
P54142	Lecture Pad A4 7mm 140 Pages Side Opening Spirax #907	80		1	3.35	3.35
P56428	Safety Glasses Clear Wrap Around	81		1	6.45	6.45
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	82		1	14.05	14.05
	MATHEMATICS FOUNDATION (UNITS 3 AND 4)					
P55278	Calculator Texas Scientific TI-30XB Multiview	83		1	37.95	37.95
P55442	Display Book A4 20 Pocket Black Refillable	84		1	2.15	2.15
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	85		2	1.65	3.30
P54143	Graph Book A4 96 Page 5mm Spirax #131	86		1	2.00	2.00
	MATHEMATICS ESSENTIALS - GENERAL (UNITS 3 AND 4)					
P55278	Calculator Texas Scientific TI-30XB Multiview	87		1	37.95	37.95
P55442	Display Book A4 20 Pocket Black Refillable	88	$\overline{\Box}$	1	2.15	2.15
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	89		2	1.65	3.30
P54143	Graph Book A4 96 Page 5mm Spirax #131	90		1	2.00	2.00
	MATHEMATICS APPLICATIONS - ATAR (UNITS 3 AND 4)					
P03539	WA ATAR Math Applications Yr12 Revision Series (Revised Edn) [O. T. Lee]	91		1	59.00	59.00
P50982	Calculator Texas TI-Nspire CX II CAS Touchpad Colour	92		1	269.95	269.95
P55442	Display Book A4 20 Pocket Black Refillable	93	\Box	1	2.15	2.15
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	94	$\overline{\Box}$	2	1.65	3.30
P54143	Graph Book A4 96 Page 5mm Spirax #131	95	$\overline{\Box}$	1	2.00	2.00
	MATHEMATICS METHODS - ATAR (UNITS 3 AND 4)					
P05940	Nelson AC Senior Maths Methods 12 (Print & Digital) [Stephen Swift]	96		1	92.95	92.95
P19016	WA ATAR Math Methods Yr12 Revision Series (Revised Edn) [O. T. Lee]	97		1	59.00	59.00
P50982	Calculator Texas TI-Nspire CX II CAS Touchpad Colour	98		1	269.95	269.95
P55442	Display Book A4 20 Pocket Black Refillable	99		1	2.15	2.15
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	100		2	1.65	3.30
P54143	Graph Book A4 96 Page 5mm Spirax #131	101		1	2.00	2.00
	MATHEMATICS SPECIALIST - ATAR (UNITS 3 AND 4)					
P00719	WA ATAR Maths Specialist Units3&4 (Print & Dig)(Rev. format) [Sadler]	102		1	76.95	76.95
P11744	WA ATAR Math Specialist Yr12 Revision Series (Revised Edn) [O. T. Lee]	103		1	59.00	59.00
P50982	Calculator Texas TI-Nspire CX II CAS Touchpad Colour	104	$\overline{}$	1	269.95	269.95
P55442	Display Book A4 20 Pocket Black Refillable	105	$\overline{\Box}$	1	2.15	2.15
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	106		2	1.65	3.30
P54143	Graph Book A4 96 Page 5mm Spirax #131	107		1	2.00	2.00
	MEDIA PRODUCTION AND ANALYSIS - ATAR					
P34603	Media Production Journal [Lisa Merante]	108		1	42.95	42.95
	(Retain from previous year)		_			
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	109		1	1.65	1.65
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	110	$\overline{\Box}$	1	14.05	14.05
	PHYSICAL EDUCATION - GENERAL (UNITS 3 AND 4)					
P06053	WA Physical Education Studies:A Resource for Yr 12 General [R Gaujers]	111		1	78.95	78.95
	PSYCHOLOGY - GENERAL (UNITS 3 AND 4)					
P31949	VCE Psychology Research Methods Workbook (3E) [Kristy Kendall]	112		1	29.95	29.95
	(Retain from previous year. New students only to purchase)					
P55484	Document Wallet FC Polydoc Green	113		1	2.50	2.50
P50328	Exercise Book A4 128 Page 8mm with Margin Spirax #110	114		1	2.15	2.15

20-11-2023 19:04:47 L0857 YR 12 Page 5

Please tick the items required in the box provided \downarrow

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	PSYCHOLOGY - ATAR (UNITS 3 AND 4)					
P31949	VCE Psychology Research Methods Workbook (3E) [Kristy Kendall] (Retain from previous year. New students only to purchase)	115		1	29.95	29.95
	PHYSICS - ATAR (UNITS 3 AND 4)					
	Read below options & select accordingly		Choose One			
	OPTION 1: PRINT & DIGITAL					
P00528	Pearson WA Physics 12 SB/EB	116		1	93.95	93.95
	This is a physical textbook including a code within the book to access the	e online con	nponent.			
	OPTION 2: REACTIVATION CODE (ONLY FOR USE WITH 2ND HAND	D BOOK)				
E02443	Digital Pearson WA Physics 12 (2yr Reactivation)	117	DIGITAL ITEM	1 1	25.95	25.95
	Only purchase the reactivation code if you have a second hand copy of to code inside the front cover of this book has already been activated and use once purchased, even if you have not activated or used the reactivative refunded or exchanged if you change your mind.	used. Please	choose carefull	y before	ordering th	nis product
P55278	Calculator Texas Scientific TI-30XB Multiview	118		1	37.95	37.95
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	119		2	1.65	3.30
	VISUAL ARTS GENERAL (UNITS 3 AND 4)					
P50775	Brush Round White Taklon Size 0 Jasart	120		1	3.90	3.90
P55223	Brush Roymac Achiever White Taklon Round 02	121		1	4.15	4.15
P52157	Brush Roymac Achiever White Taklon Round 04	122		1	4.60	4.60
P50969	Brush Roymac Achiever White Taklon Round 06	123		1	5.10	5.10
P55226	Brush Roymac Revolution Round 01	124		1	9.35	9.35
P50209	Brush Water Colours Round Squirrel #3060V/3	125		1	8.70	8.70
P52187	Display Book A3 20 Pocket Foldermate Black (Non-Ref)	126		1	13.40	13.40
P50265	Eraser Plastic Pencil Small With Sleeve	127		1	0.30	0.30
P55097	Lever Arch File A4 75mm Board	128		2	5.35	10.70
P56115	Marker Artline #210 Black 0.6mm	129		1	3.80	3.80
P50235	Pen Felt Tip Monami Fineline 0.4mm Black	130		1	2.30	2.30
P52001	Pencil (2B) Goldfaber	131		5	0.65	3.25
P50034	Sketch Block A3 25 Leaf Cartridge	132		1	4.70	4.70
	Number of Boxes ticked:					
	Postage (Home delivery on	ly)	\$5.00	<u> </u>		
	ESTIMATED AMOUNT DU (PRICES CORRECT AT 20/11/2		\$	_		